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SSC PART-l (9th CLASS)

PHYSICS (NEW SCHEME) (20152017 ) ( (‘ £) J?
TlﬁE ALLOWED: 1.45 Hours SUBJECTIVE .2 145 = =
MAXIMUM MARKS: 48 48 = AF

NOTE: - Write same question number -»?—(’/JJU:%—{.J’V,.&“é Zy;:/:ﬁ?;:l/-fdirds,;gébﬁiﬁ -
and its part number on answer book, as given in the question paper.
SECTION-l Jslo

2. Attempt any five parts. 10=2x5 -é‘-"-‘{f-aap.zéfi"lét.:-éf 2/:2dlr
(i) What is meant by Meter Rod? ".»_JI/UL; )4 (i)
(ii) Express the given numbers in Scientific Notation. qfauﬁ u" :L.Gv b waﬁ(_; (ii)
(a) 0.00580 km (b) 2100 g
(iii) What is the difference between Mechanical Stop Watch and “¢. u/uu"ul;...«i.-g}"" wft,b....l,._f:"’c (iii)
Digital Stop Watch?
(iv)  Define Uniform Acceleration. & -?/‘Ucﬁ)’gfpw (iv)
(v)  Convert 20 ms™! velocity in Kmh™'. JAdest Kmh! S50 20msT (v
(v What is meant by Positive and Negative Acceleration? Ses e )’Cid’m..w (vi)
(vi)  Write two advantages of Friction. Wil PP (i)
(viii)  Write the First and Second Equations of Motion. u"q.-l:l/d/smlg,%( JJ] (viii)
3. Attempt any five parts. 10=2x5 g{/futlféiyléla-d/ 2324y
()  Describe Head to Tail Rule. ik (i)
(ii) Define Torque or Moment of Force. Also write its formula. dgf U BB _é_ﬂ/JJn’..J i...erJ P (i)
(iii) What is meant by Rigid Body and Axis of Rotation? ?g_ﬂ/t_f‘;. u”u_.s l/fl » $ilies (iii)
(iv)  What are Artificial Satellites? ‘.’q;Z_yzL_fu;'fU&’Jﬁ‘“‘ (iv)
(v) On what factors the orbital speed of a satellite depends? fe Jrﬁ%us ZJ’L,E»); /‘ZJ;J_f U-&’J( (v)
(vi) How does the value of "g" varies with altitude? Explain. é_»l..n “f_. dru yw{/;ﬂ/ d,d-._,z‘ J 'g" (vi)
(vii)  Define Work. Write its formula. qf%r;b(ururéf ...v/’u(_ﬁ; (vii)
(vili)  Write the names of two such devices that convert i L./Jyufdﬂf”; i Ik ,-g!fq‘_’UrLL Aginl  (viii)
Electrical Energy into Mechanical Energy.
4. Attempt any five parts. 10=2x5 ey ST Id) lébcr_.(jf 44y
()  State Archimedes Principle. Y ubdy‘IS’JMJ (i)
(i) Define Density and write its unit. &J..a‘ Ku'luié J/J f b} (ii)
(i)  Define Young's Modulus. EASANE i)
(iv)  Define Radiation. EVISSSE (i)
(v)  What is meant by Thermas Flask? sl LWULf (V)
(viy  Describe the cause a glaider to remain in air. b i Sz (Vi)
(vi)  Convert 100°F temperature into Celsius Scale. -ES LTI EZ 1009F  (vii)
(viii)  Define Latent Heat of Fusion. -g,i:...y/‘"JJ?.:.zrfJ i Llal,,r (viii)
SECTION-II (1.0
NOTE: - Attempt any two questions. _“L,"'-'_/ f._, U2 L = Ulyse J/ oy
5.(A)  Write four methods to reduce friction. 4 q‘.‘gﬁ. );béa./.‘;(f; ()5
5 Lo JE LekH 100 -:_d/c,/ww.ﬁu”)ffu. 0.5 ms” ;._Ju.J_,JJu/J (&)
(B) A train starts from rest with an acceleration of 0.5 ms™. s/ kmh- Vb
What will be the speed of car in kmh™! after covering a distance of 100 m?
6.(A)  Explain the conditions of equilibrium. 4 Sl S A8 EASE T ()-8
5 L L p el JolE o 20em Sieidrds - 3P 18 (S ¥ 10kg $2L1 (L)
(B) A girl carries a 10 kg bag upstairs to a height of 18 steps. Each step is g=10ms -2 dﬁgf(}”zw
20 cm high. Calculate the amount of work done to carry the bag. (When g = 10 ms™2 )
7.(A)  Define Pressure. Explain Pressure in Liquids. 4 o Lo;o/xg'_,m ..él...df’J/z (-7
5 et @0 Qg bl ot ety 300C QU e Ry f 00C 2E WAL (L)
(B)  Abrass rod is 1 mlong at 0°C. Find its length at 30°C. -« 19x10%?

When the Coefficient of linear expansion of brass = 1.9 x 10791,
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TIME ALLOWED: 2.45 Hours SUBJECTIVE Z¥l» 45 = =
MAXIMUM MARKS: 63 63 = Af

NOTE: - Write same question number ..c'r(,-,u:(ﬂ;.{.élr)?.é E’/JJ/'.%ZJ"/ZIU'}’U"J;QK(,}lﬁ -y

and its part number on answer book, as given in the question paper.
SECTION-I Jslo

2. Attempt any five parts. 10=2x5 & fe 2 linbie§S 240w
(i) What is meant by Prefixes? Give its one example. _u‘;f UL—-J J,_ﬂ T;.Jl/lf /gd/ (i)
(i) Define Atomic Physics. _g{_gf’&/’/k.f d (ii)
(jii) Differentiate between Circular Motion and Rotatory Motion. _g,‘-: ugJ)@er z?;;;lo?r}/ (iii)
(v)  Define Variable Velocity. E SIS, (V)

ang&u,&mL% 5 _Q.Jf)v‘bJ’UJJ 10 ms~1 Jﬁ&/ﬁ-ffgﬁ)’gpwgi 2ms? LKLl (V)

v) A car travelling at 10 ms1 accelerates uniformly at 2 ms2. Calculate velocity after 5 s.

(vi)  Why do passengers move outward when a bus Sl b Ul S A A snn Jfﬁg.ff Elrodice (vi)
takes a turn?
(vii)  How much acceleration will be produced by TJL./('{-;_L;E)’”{IG{L)‘);’JQE& 100 & ()'...Q.:CJE 50 kg (vii)
a force of 100 N in a mass of 50 kg..;J
(vii) What is the difference between Sliding Friction and Rolling Friction? S SR P LS IE 5 (il
3. Attempt any six parts. 12=2x6 Efeelizge S 340y
(i) Define Stable Equilibrium. ~E Sk /«.5:( kel (i)
(ii) Differentiate between Like and Unlike Parallel Forces. e GOAL 7;:’& LUl sl LU (i)
(iiy  State Principle of Moments. E ISP L S (iii)
(iv)  What is meant by Gravitational Force? ?q_Jr/‘_Lfc..uﬁf.;’ﬁdf/f (iv)
(v) Define Couple and Equilibrium. ‘.;fh@flfrfjdﬁi 2l Jf’ (V)
(vi)  Define Work and write its S| unit. _(,{’U..:;: Si (Jl;,i“é i /U_ﬁ; (vi)
(vi)  Why do we need Energy? i‘q..anurfa::/:’Jd)fvt‘f‘ (vii)
(viii) * Define Sound Energy. S ASG s (viil)
(ix) . What is meant by Energy? _étﬁrlﬁr»J&./‘!# ?9_;1/*!{;(5.)1 (ix)
Write the names of two types of Mechanical Energy.
4. Attempt any five parts. 10=2x5 Eife 2 lingie 8 _a iy
(i) What is meant by Stress? Write its formula. ok Sespde a (0
(ii) What is meant by Strain? Write its formula. _uf’JLJnLib’Jl ?g.ﬂ/_lfa.w_' P (ii)
(i) ~ What is meant by Upper Fixed Point in Thermometer? ‘:‘.f_:yl_/c...:ﬁ; Lj{ruc /’-.fr/ﬂ? (iii)
(iv)  What is meant by Lower Fixed Point in Thermometer? ?..;_.,s/-y’a_ Loy 2829 /‘-’f/;’ (iv)
(v}  What is meant by Heat Capacity? ‘e A W
(vi)  How much Specific Heat of Water is in S! units? fe Fooreinf QAUYS (v
(vii)  In SI, write the unit of thermal Conductivity. -ﬁ#{?&{ﬂ;}}uﬁ Sl (vii)
(vii)  Define Greenhouse Effect. SISl (il

(&1on)
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SECTION-Il (1. ¢

NOTE: - Attempt any three questions. -ézfayméauwfa_df -

5.(A) Graphically prove that 4 Sy fetesdS ()5

S = Vit + ~ar?
2
3 ?%JLJ VERTER o & o e/gdg ()

(B) How do the Prefixes, Micro, Nano and Pico relate to each other?

6.(A) State Newton's Third Law of Motion and explain 4 I JeLnlg S S5 A6 (-6
it with an example.
3 i e KL SON g 16 cm ALASLFLNS ()

(B) The steering wheel of a car has a radius 16 cm. Find the Torque produced by a Couple of 50 N.

7.(A) Explain Newton's Law of Gravitation. 4 ol UL FS S L e ()T
3 _ErnlS ALY e 4000N ity bbb JSquT -8/ Te bp S amis eaivdl (L)
(B) A motor boat moves at a steady speed of 4 m/s water resistance acting on it is 4000 N.

Calculate the power of its engine.

8.(A) State and explain the Archimedes Principle. 4 - ol YU (IN-8
3 - 11300 Kgm™3 FHE b AL/ 2000 (L)

(B)  cacluate the volume of 200 g of lead shot having density 11300 Kgm‘s.

9.(A) How can the rate of emission and 4 ?q_ffc ngrsl”d: T /"J..,J BAE 8L, (D=9
absorption of radiation be found out?

3 R IE A oty 98.69F AL AU ()

(B) " Normal human body temperature is 98.6°F. Convert it into Celsius and Kelvin scale.

SECTION-lll  fyoe

10. NOTE: - Attemptany two parts.  5+5  -gsA=uzlizne{f (oJ£) 10
o b 8 L VLA HE 3 mm Fh SRR (eSS n§BL S ()

(A) Calculate the thickness of a glass sheet using a Screw Gauge when reading on linear scale is 3 mm.

where the reading of circular scale in front of Index Line is 8th.
_‘a.}? 24 ..::":L/ﬂb’ﬁ/ﬂs 15£ﬁ;j:;uv _.9./*'5 0.8 J’U&?JJK&LJ{J}TJJ'JU?'JJ!C? -érP;EJ g’ <3 PLJ6) (<)
(B) Find the value of 'g' by Free Fall Method when the distance between the initial and final positionof the ball

is 0.8 m and average time for 15 vibrations of simple pendulum is 24 seconds.

(C) (i) Define Specific Heat Capacity. SIS () @
(i) Define Thermometer. I G
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S B § MBI L i erne LML sl yQ637 L D 41 C B A ARB Ly 2
VI Ko e SE /i Bubbles  Mnus b Redd pe S Sl Sk | LS s tmbie LI 25
Note: You have four choices for each objective type question as A, B, C and D. ..q):sd’}gc.mr{.“.‘"r
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) In solids, transfer of heat is called- e b S A S eI (1)
(A) Radiation c?"'déz (B) Conduction f/ (C) Convection d‘—{;f (D) Absorption ﬁzlzl

(2) Land and sea breezes are the result of:- -u_';,._é;""b’ _Jﬁ(iﬂd.fr-) (2)
(A) Temperature £ (B) Radiation /IS4, (C) Conduction ¢*'%” (D) Convection %5

(3) Least Count of meter rod is:- SR % 110 (3)
(A) 0.001 mm (B) 0.01 mm (C) 0.1 mm (D) 1 mm

(4) A measuring cylinder is used to measure:- - rugy’p"‘r_.rlilq?_k, (4)
(A) Mass U\ (B) Area L/ (C) Volume ¢+is (D) Level of a liquid Jsys”

(5) The motion of body about its axis is called:-  (A) Circular Motion /% < QWIS i ()
(B) Rotatory Motion defu (C) Vibratory Motion w’rdf‘..ﬁ’u (D) Random Motion Jrrig;

(6) Inertia depends upon:- i t'mLf!Klf‘}I (6)
(A) Mass ¢t (B) Net force 4J;}¢.;‘ (C) Force 4u‘;} (D) Velocity {L‘f Us

(7) Two equal but unlike parallel forces having different line  -70/1x =n..&13‘u:£f_57wfufu’7;;’d'l,§_fucﬂwg Ssloss (7)
of action produce:-
(A) Torque ot (B) Couple Jf () Equilibrium £AS%1 (D) Neutral equilibrium £AS# 1%
(8) The value of "g" at a height one earth's radius above the surface -q.Jm;dAd:V&J—’J_;Lg':J;.uf}é’;,EJ g (8)

of the earth is:- (A) 2g (B) 112 g (C) 1/3¢g (D)1/4 g
(9) Global Positioning System(GPS) consist of satellites:- -q_;fﬁJ..*JLP—"‘J (GPS) ("'/ .’E‘»—J‘.Jguk:f (9)
(A) 20 (B) 22 (C) 24 (D) 26

(10) The Kinetic Energy of a body of mass 2 kg is 25 J. Its speed - iz (U w25 d S LK S (?.giru%; (10)

willbe:- (A) 5ms™?  (B) 125ms™ (C) 25 ms™! (D) 50 ms™"
(11) The lightest metal is:- _q__-,Lwoqf_...,/ (11)
(A) Copper 4§ (B) Mercury /7 (C) Aluminum % (D) Lead -+
(12) Water freezes at:- ~etegrdighd O (12)
(A) O°F (B) 32°F (C) -273K (D) 0K
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S | ./:L);)'F}.EU’&WZ..,.fﬁu;:;uﬁu;?béé.:é’_Lfﬁdfrﬁgléﬁ}lﬁ -u_?‘/'ZC:.J D.CB:A ..:i_.b?.'fng..dfr/: ST
V! _?Z.bpuf‘//&fu:_w:‘&d./aé Bubbles _(ﬂ;ﬂbﬂ?lﬁagﬁuc.:x:";;i./é So¥ ! L/Ju:}u»g;c,_p .l

Note: You have four choices for each objective type question as A, B, C and D. Q)ﬁ:‘,}’)};urr{.@{grr

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) One micrometer is equal to:- -q..i:yzf.lf.ﬁ’st.ﬁ (1)
(A) 10°m (B) 10°m (C) 10°m (D) 10°m

(2) Change in position is called:- ‘LJU"(JL Wi L;EJ; (2)
(A) Speed 4 (B) Velocity ff U (C) Displacement &%/} (D) Distance 6

(3) Allthe freely falling objects have the same &ic_w{ﬁ;ub.« -c.dru'..tu Ju /’glir*uf;ru,m; (3)
acceleration. This was located by first-  (A) Galileo P’{ B) Pascal J/’? ) Newton & (D) Kelvin u;':.f

(4) Inertia depends upon:- -9.;'&7'!(_9)[ (4)
(A) Mass U\ (B) Force (¢ (C) Velocity (Us (D) Weight ¢/

(5) Newton's First Law of Motion is valid only in the absence of:- .LrnJubFKJruiFéldﬁuf&ﬁr/fJ )
(A) Force i (B) Netforce 7se  (C) Friction o/ (D) Momentum (%

(6) Racing cars are made stable by:- Sodedbairy 58, 6
(A) Increasing their speed e b2 ar (B) Decreasing their mass L/{ \
(C) Lowering their centre ofgrawty[.f / S (D) Decreasing their width L/HEU;;

(7) First condition of Equilibrium is:- -é.bfuﬁo/ﬁd):f (7)
(A) £F=0 (B) St =0 (C) Tt =0,EF =0 (D) Al of hese (L%

(8) Earth's Gravitational Force of .- attraction vanishes at:- -;.J@x__f&uvﬁﬂdgﬂuf} (8)
(A)6400km (&6 % 6400 (B) Infinite distance /&b
(C) 42300 km {Esz:;c,f 42300 (D) 1000 km.¥ 6L #1000

(9) Rate of doing work is called:- SS9
(A) Energy (/! (B) Torque ¢ (C) Power s} (D) Momentum (Vr

(10) In_____state molecules do not leave their position. -Lj;fuﬁ"t-ﬁjg@ lﬂggtu:;)b S (0
(A) Solid ¥ (B) Liquid ét (C) Gas Jf (D) Plasma

(1) affects evaporation. ety f{w* m
(A) Temperature £ (B) Surface area ofthe liuid L¥UEH (C)Wind bx (D) Allofthese il

(12) In solids, heat is transferred by:- -g.rM,g)’b’.avaJ‘rLzFuy‘ (12)
(A) Radiation ¢4, (B) Conduction uy # (C) Convection u‘i{?{ (D) Absorption 4/
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